(BAH1-15-12-28) BRERHIREDHBRSHE0E (B#E2)
[(OEEFFEEEHD | [O)FEREFEHR) |
[ g 4msgEE | [ AEEwESss | HZ BRI B |
0w A (B :[)
Sl 2 B | w =
KIRMHEHE GEEE)A 500,000
KIET# & (EHE)B 1,424,000
BIng-ELe R FiH e E0Mh C 226,571 A KX FAL B DOER, BRE L
| R A& 2D 2,150,671 _
) BBEO LI, TEOVM B hoBaIcmIET .
* H (BT 1)
AR wRET SEHHHA éi’%—{"‘%:‘c:;ﬁE spugEnr | RIOEA #8e H zof1
BERE 4B ~3H 512,081 512,081 0 500,000 12,481
HEBMES/E|E  512,081fF 512,081 G ojH 500,000 I 12,081
WEIFRER | MBI
SR spwnm K BRO [ ... | WHEM | WHED
(g?;) FRES AW RHF :i(ailﬁ FaorE| BRL sEcaE] ORN
EEER (137 08 BEER | hram
.(IOL%OEWJ)} = uoo%ﬁm)
105 K AR E 117 28H 126,837] - 126,837 0 0] 85,537] 0 41,300
B5 s [2.B5KFIEE ik 0 0 ol of 0 0 of
B5 3L [3.&LpnEE 125290 26,566 16,566 ol  10,000] 16,566/ 0 10,000}
0 0 ol K1 | of 0 [i] |
178 Cyas G 79,900 79,900 o] 0 14,900 0 65,000}
EAAN 0 0 ol 0 0 0 0
EE
0 0 ] | 0 0 0 0
5RO B 4 ~3A 329,608]  327,077| - 2,531 0 327,077| 2,531 0
_— 6. 5L\ R 1071011713 31,404 30,975 429 0 17,575| 429 13,400
THERRS ik o] 0 0 0 0 0 0
1| 0 0 0 0 0 0
B R & B AR 48 ~38] 223,08 217,428 5,650 0 132,638 __ 5,650 84,790
R 0 of of i .0 0 of
= of 0 ol of .0 0 i |
9. i 45 ~3H 6,460 6,460 of of 6,460 0 i |
#’ & ) 0 0 of o] 0 0 of
0 0 0 o] ) 0 0
10552 B 7= A7 A7V P IE 0 0 0 0 0 0 0
e [1LBRZEIARS Hak 0 0 0 0 0 0 0
AR=Y 126508 KS ik ol 0 0 0 0 0 0
ol 0 0 0 0 0 0
[FRRAR LA HEELE=M K 746 %1 823,853]K - 805,243[®@ s6l0fL .10,000]M  600,753|®@ 8,610|N - 214,490
| zaeo 1,335934]p 1,317,324]  8.610]Q 10,000]R. 1,109,363]  8,610]S 226,571
e fEE A+B HHAESU R=-H+M+@ | _ |T:#3| (BEAR)
1,924,000 1,109,363 814,637
RAGE.D XHEEe O _ [G:E3
2,150,571 1,335,934 814,637
100%#E): ® = @ C—§= I[v.ﬁﬁ___ﬁ Lt 5




